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RBD,-RBD,
RBD,-RBD,
RBD,-RBD,

D405-R408
D405-S375
E406-R408
T415-D427
K417-N370
K417-C379
Y421-T385
Y421-Y369
L455-K378
L455-Y380
F456-N370
N460-T385
Y473-P384
AA475-N440
S477-W436
E484-K378
N487-Y369
G502-N439
V503-V503
G504-N437
Y505-N437
Y505-D427
Q474-N343
S477-N343
P479-N343
E484-N343
(G485-N343
N487-N343
Y489-N343
FA490-N343

RBD,-NTD,
RBD,NTD,
RBD.-NTD,

N394-P230
Y396-P230
Y396-T167
Y396-Y200
K462-N234
K462-D198
E465-N234
E465-1233

R466-N234
R466-G232
E471-K113
E516-Y200
T345-N165
R346-N165
F347-N165
D428-N234
T430-N234
K444-N165
N450-N165
L452-N165
$459-N234
N460-N234
K462-N234
E465-N234
1468-N165

$469-N165
T470-N165
E471-N165

RBD,-S2,
RBD,-S2,
RBD,-S2,

G381-R983
(G381-D985
V382-R983
$383-R983
$383-D985
$383-5982
L517-R983
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